P ESANE AL

DX BHO EX0IE RE(ASEX/ASEX
X

DA =2X 8

(AL LS|

2 S 4
S FH B (SH) - MR A 0l &t o il HImEET
SXE M 709,864,450 667,804,611 42,059,839
2 520,645,478
& 176,000
=2 851,545
=) 188,191,427
QA B4 SXJI8 F (M= /AE =X 17,304,930 13,765,568 3,539,362
2 14,855,338
< 2,449,592
& =sXgd x4 16,854,962 13,415,544 3,439,418
2 14,855,338
< 1,999,624
A2l SX B =4 482,870 288,253 194,617
201 Let249] 21,000 44,520 223,520
01 At 22/l 21,000 44,520 A 23,520
OAMSI=E X AlZ Of e 12,000
OAMSI =X A& &It 5,000
OMEI=X&E 29 4,000
202 O4dl 59,370 32,033 27,337
01 2404l 16,370 14,033 2,337
oda =2X&3d x4 16,370
04 2 H 204l 43,000 18,000 25,000
Odi2l & &KX BIXI 0L 43,000
203 YR =&l 85,000 85,000 0
03 AIHZ=XH R =AH| 85,000 85,000 0
OASRNSEH A = 85,000
301 et a = 1,500 1,500 0
08 SUZRRIABHS 1,500 1,500 0
O3U=ZRRABAZS(1Y) 1,500
307 21201 A 168,000 8,000 160,000
10 A2l =S X2 X 168,000 8,000 160,000
OZ2dTE SSAMNEIA A NASH2H(
EEEHRE) 160,000
OZ3E MI=XALE XA 8,000
308 XX EHHSOIA 148,000 68,000 80,000
01 HIXNHHBNEES 148,000 68,000 80,000
OZFETE SSHMHA HEHA AMEAS 100,000
OMEIEXME 2= X 48,000
0lcd2 02 /=2 =8 90,000 90,000 0
301 gt d= 90,000 90,000 0
01 MI28E+06l= 90,000 90,000 0
ofles +¢ 90,000




SRAR
X ZH -
L= B

=E

EPARSE )

£Q% ZAO =XIIY PE(MEZX/AE =X
XA

X
HE =X 8Y x4

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
NEEXAIY JjetExd =X 673,000 551,000 122,000
201 et A | 6,000 6,000 0
01 AFR 22l bl 6,000 6,000 0
OMIISSEHHEAILFA 3,000
O3US XN KA AL FA 3,000
202 04 d| 9,000 9,000 0
01 2L Y] 9,000 9,000 0
OXNAEXNAE =X 9,000
307 QI2t01 ™ 290,000 200,000 90,000
10 Al S X2 X 290,000 200,000 90,000
O AMNI=EXNZBZER23 29 50,000
O ASEXEAS & 65,000
OZA=ANHERD 29 35,000
o¥YHITCWy 2H 40,000
OL3AT AMI=XUSE X3 20,000
OXNAMIAEXNE2AM IS 10,000
O AlgEXg2 AESHXE 70,000
308 AKX SHHSOIA 368,000 336,000 32,000
01 AIXHHBAEXZ 368,000 336,000 32,000
OAl - 2 A EXES 2% 198,000
T 29 10,000
ools=Exse 249 52,000
OXNYGAME=XEAN 435 108,000
AMSZB2EKRIAYE F& 60,000 60,000 0
307 QI2t0| ™ 60,000 60,000 0
10 Al S X2 X 60,000 60,000 0
OAS BEAEENEH 29 60,000
KA MBIAE XA (21) 9,913,844 8,785,071 1,128,773
= 9,220,090
& 693,754
201 et | 4,000 0 4,000
= 4,000
01 At 22l ] 4,000 0 4,000
OXSAMI MHEIAEXAY F& 4,000
= 4,000
202 04| 6,000 0 6,000
= 6,000
01 2L Y| 6,000 0 6,000
OXEAMIMEBIAEXAMY =& 6,000
= 6,000




2N
: AEXP SO 2X 0|8 PE(MIEX/AE =X L L)
124 X

el

X ZH
S =

EPARSE )

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
307 QI2t0| ™ 309,600 255,157 54,443
= 219,600
== 90,000
10 Al S X2 X 309,600 255,157 54,443
O XNYGASAHH AKX &H 300,000
= 210,000
= 90,000
ONMBAMO E20] XN 9,600
= 9,600
308 X SHMSOIH 9,594,244 8,529,914 1,064,330
- 8,990,490
== 603,754
01 HXHHNBIMNEXS 9,594,244 8,529,914 1,064,330
OXEANIMHEIAEX X 7,501,995
= 6,958,111
o= 543,884
OJAI2ZIEEE2 =201 X& 1,043,364
= 1,043,364
OAR A MO =201 K& 985,740
= 925,870
o= 59,870
O Xl = A3 M HI A E XFAF 24l X 63,145
= 63,145
MNEEXNESAHEA B2) XK (=21) 678,060 659, 220 18,840
= 678,060
308 A XISHXSOoIH 678,060 659,220 18,840
= 678,060
01 HXHNBMNEXTZ 678,060 659, 220 18,840
OMI=2EXNSEANEA B2 21| 678,060
= 678,060
UEE NY=2X MLHH HEXNKR(=2D) 4,957,188 2,982,000 1,975,188
= 4,957,188
308 X SHAMSOIA 4,957,188 2,982,000 1,975,188
= 4,957,188
01 AXHHNIMNEXTS 4,957,188 2,982,000 1,975,188
gEd N9sX dEHA A 3,591,000
= 3,591,000
O=0zsal9 Stzd SXNIMEMAH 25 588,000
= 588,000
OgHs oz2t8xod X3 778,188
= 778,188
SIAE &350 29X 449,968 350,024 99,944
AMISEXNEEHEH 29 =& 48,000 48,000 0
307 212t01 & 48,000 48,000 0




SA: 2X™ 2
HM: QX ESA9 2XJ|I8t RE (M EX /A ERLE
e EXNAE &30 HAE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
10 Al SR EX 48,000 48,000 0
OMS=SXNEEHLHEH 24 48,000
ASIEXNAIE 29 =& 401,968 302,024 99,944
202 044l 5,000 5,000 0
01 2L Y| 5,000 5,000 0
OMISXNALE XN& FA 5,000
307 2iz2to| & 39,600 41,400 A 1,800
10 MM S X EX 39,600 41,400 A 1,800
OS2 MI=SXAE SAIN EX+=E 39,600
308 XHXIGHHM SO0l & 287,368 255,624 31,744
01 XHHIMNEXZ 287,368 255,624 31,744
OAl -2 A EXAIE SAMAN EXNxE 249,408
OZ&AM3=EX2 243 NS 10,000
OMeISA A DAL X & 27,960
403 XX S M S K201 & 70,000 0 70,000
01 XIS A2E X 70,000 0 70,000
OLXESTEAISANS S3MA 70,000
SESHAU™M SHSH(AMIEX/BEE) 592,000 282,000 310,000
EE2HH 4K 592,000 282,000 310,000
BECH X 457,000 274,000 183,000
201 et 9| 5,000 5,000 0
01 AR 22l ] 5,000 5,000 0
OLJEBEUa =4 EE 5,000
301 LBt A= 10,000 0 10,000
06 212to1 =22 (4 HI 10,000 0 10,000
O=SERZ2X S22 MEX &2 X 10,000
307 QI2t0| ™ 322,000 269,000 53,000
03 MSIHHEEX=S 135,000 100,000 35,000
OABI 29 XK (EECAH) 135,000
10 MM S X EX 187,000 169,000 18,000
Ok B3 29 1 48,000
oA =2E 2X3&d 29X 84,000
©06.25 &8 K2 Y K5 AdegA=zAH XA 30,000
OMAS ZIREA M 25,000
308 AMXISHMSOIA 20,000 0 20,000
01 AIXSHMENEXZ 20,000 0 20,000
OMB4=H 6.25 J|E&MAI XA 20,000
402 SI2F X201 & 100,000 0 100,000




SH =SNEMY
HE: SEAYNH HHSH(AMESN/LE)
ool BECH SN (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 RIZERt2EX 100,000 0 100,000
OZJT Hegzolgla 22dd X 100,000
SER3IAN K5 2AzH UE =4 15,000 8,000 7,000
308 XtXIEHHSOIA 15,000 8,000 7,000
01 AXHHILEES 15,000 8,000 7,000
O=gR3A & |5 =H N2 15,000
SSAd A8 XA 120,000 0 120,000
403 UHXSHHSA=0l& 120,000 0 120,000
01 XM A= LE L 120,000 0 120,000
OANZ ESAE AEXA 120,000
SO ZHEEEH(ASEX /I ZHE S E) 418,022,763 427,080, 101 A 9,057,338
= 352,446,940
< 65,575,823
HASEES N3 FH=X & 169,567,156 167,700, 566 1,866,590
= 150,777,216
< 18,789,940
HAsEE SEXE 332,200 326,200 6,000
201 ¢er24] 5,000 5,000 0
01 At 22l 5,000 5,000 0
OJI=MEZ ALY =Z 5,000
202 044l 9,000 9,000 0
01 = LH o4 1l 9,000 9,000 0
OMASE N3 EH=A & 9,000
308 XXl EHH SOl A 241,000 235,000 6,000
01 HXNHHBHELS 241,000 235,000 6,000
OAMRESHL S22 R 6,000
Oxae ASX 235,000
403 XSS X201 & 77,200 77,200 0
01 XXM 22 = 77,200 77,200 0
d=xcl X3 70,000
ORFHANE A2 FHI 2S 7,200
228X N (21) 2,344,263 2,661,555 A 317,292
= 2,232,631
< 111,632
308 XXM SO A 2,344,263 2,661,555 A 317,292
= 2,232,631
< 111,632
01 IXNHHBANEES 2,344,263 2,661,555 A 317,292
(©OFIF=1—DNDNE-! 2,344,263
= 2,232,631




M SNEH L

=
HH: R ZHEEH(AISX/IZHELE)
= .
= t

G MNAS & Z2o=EX Ad (e H)
x 5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

| [ 111,632

=0 £ EXNF(L=sAANERIAXH)(=ZD) 2,042,693 2,020,000 22,693
= 1,429,885
& 612,808

308 XHXIEHSOlA 2,042,693 2,020,000 22,693
= 1,429,885
&< 612,808

01 AIXSHHEMNEXZ 2,042,693 2,020,000 22,693
OE=0 E AlI&E 249 2,042,693
= 1,429,885
o= 612,808

I=MEEE SH(=Z1) 159,957,000 0 159,957,000
=2 142,372,000
= 17,585,000

308 MXISHHMSOIA 159,957,000 0 159,957,000
=2 142,372,000
& 17,585,000

01 MIXHHIMNEEXS 159,957,000 0 159,957,000
OMAZ N 119,612,250
= 106,322,000
& 13,290,250
OESWF=10; 35,797,500
= 31,820,000
= 3,977,500
(©ENE=S=10: 3,453,975
= 3,213,000
= 240,975
OAMEMZ2A 1,093,275
= 1,017,000
= 76,275

=0 £ EXXN(L=s0A4E JsE2H)(=ZD) 75,000 720,750 A 645,750
= 50,000
= 25,000

403 XX SHHS K20 & 75,000 720,750 A 645,750
= 50,000
& 25,000

01 XIS A=2E X 75,000 720,750 A 645,750
C=0AIE JDsEY 75,000
=2 50,000
& 25,000

MASANE FREAX(2D) 976, 100 942, 190 33,910
= 908,000
o 68,100

308 XX SHHSOIH 976,100 942,190 33,910
= 908,000
o= 68,100




SN =XYYL

2
M R0 ZMBET(MISX /I EZMERE)
=
= t

Eelr MaASs A FHEX AE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

01 IXNHHBANEES 976,100 942,190 33,910
OXAAANE L= 976,100
= 908,000
< 68,100

=S A 2 XA (=1) 3,512,000 3,076,469 435,531
= 3,512,000

308 XX EHH SOl A 3,512,000 3,076,469 435,531
= 3,512,000

01 HXNHHBHEELS 3,512,000 3,076,469 435,531
OJIxz=c= A =gl 3,512,000
= 3,512,000

SE0EF0 XNENSUER(S1) 253,200 275,000 A 21,800
= 253,200

307 glz2tol & 253,200 275,000 A 21,800
= 253,200

10 AtEI =S X2 X 253,200 275,000 A 21,800
OXSHSHE 29 253,200
= 253,200

SE0Ex0 FIXC2(21) 74,700 59,500 15,200
= 19,500
< 55,200

201 LBt 13,500 12,000 1,500
= 8,500
< 5,000

01 At 22l 8l 2,500 7,000 A 4,500
SE0lg=2 XNGE3 M 2,500
= 2,500

03 A2 Z HI 11,000 5,000 6,000
OSE0lg=Fe FAE =3 W= 5,000
Oo=sstolg=8 =2sge 6,000
= 6,000

307 21201 A 14,000 11,000 3,000

10 A2l =S X2 X 14,000 11,000 3,000
O=8 080 AM3EES U= 6,000
O=s80lE80d 282208 29 8,000

308 XX EHH SOl A 47,200 36,500 10,700
= 11,000
< 36,200

01 X HHILEES 47,200 36,500 10,700
O=&et0lEFe s X 12,000
OS&0lg=Fel st K& 5,000
OS80/2XE0 2T AH X 7,200
SE0IEF SRL2IXH 12,000




SN =2XEYY
M 20| ZMBET(ANSSN /I ZMEDE)
g2l NASES N F0sSX &8 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXNEyos 249 11,000
= 11,000
o 220JI2 2 (Yd=230II32LSEIAH) 223,169,027 233,745,380 A 10,576,353
= 178,294,794
= 44,874,233
o220 MEANEIA XA (=) 222,435,258 233,002,844 A 10,567,586
= 178,294,794
< 44,140,464
201 Let24E] 697,500 700,000 A 2,500
2 558,000
< 139,500
01 At 22l 697,500 700,000 A 2,500
ORAE - M2 697,500
= 558,000
< 139,500
308 X EHSOIA 3,029,194 3,694,890 A 665,696
= 2,769,950
CS 259,244
01 HXNHHNBMNEES 3,029,194 3,694,890 A 665,696
o=o BE =3 124,447
= 110,620
< 13,827
OozH X3 16,200
2 14,400
< 1,800
OAH & FHoHel 2F7 P N 796,512
= 708,010
< 88,502
o=¢e B 2d= 115,920
= 103,040
< 12,880
02dz=0 2l 696,000
= 696,000
OFale gE— SN | 1,280,115
= 1,137,880
< 142,235
403 A X EHH S 20l A 218,708,564 228,607,954 29,899,390
= 174,966,844
< 43,741,720
02 S| 2 S 0il CH &HCH & A I 218,708,564 228,607,954 A 9,899,390
o&zHl HES 218,708,564
= 174,966,844
< 43,741,720
JESHYR FX 213,200 216,000 ~2,800
201 Let24E] 9,000 9,000 0
01 At 2t 2l 6,000 6,000 0




2N
X ZH -
L= B

el

EPARSE )

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2=2s0 Ler2dY 6,000
03 &AL S HI 3,000 3,000 0
oAz s 2ACIAL HEF 3,000
202 o4dl 20,000 18,000 2,000
01 = LH o4 1l 10,000 10,000 0
O2zs0g:R =& 10,000
04 2 H 204l 10,000 8,000 2,000
Odi2l &KX HXIoH2 10,000
308 XX EHSOIA 184,200 189,000 A 4,800
01 IXNHHBNEES 184,200 189,000 A 4,800
OYgREx olAMHl X&(18Y) 96,000
od&Edl XA 88,200
ol gl gl 520,569 526,536 25,967
801 Ol bl 520,569 526,536 25,967
01 olldldl 520,569 526,536 A5,967
©uldl bl 520,569
goi2 g - g XA 25,286,580 25,634, 155 A 347,575
= 23,374,930
< 1,911,650
g 2 N9=2X 58 =8 50,000 39,000 11,000
307 glz2tol & 50,000 39,000 11,000
10 A2l S X2 X 50,000 39,000 11,000
OJIAIIE XA EEH 29 30,000
OXtEtH AtdEdst XA 20,000
AN XNALEH(Z2D) 451,250 441,576 9,674
= 315,875
< 135,375
307 21201 A 451,250 441,576 9,674
= 315,875
< 135,375
10 A2l =S X2 X 451,250 441,576 9,674
OZAXEEH 29 451,250
= 315,875
< 135,375
e (=2) 21,273,655 22,079,379 A 805,724
= 20,075,155
< 1,198,500
308 AXIEH SOl A 21,273,655 22,079,379 A 805,724
= 20,075,155
= 1,198,500
01 HIXNHHBNEES 21,273,655 22,079,379 A 805,724




2N

SXE3
M 20| ZMBET(ANSSN /I ZMEDE)
chels g8z g - X e X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oxngz=z XA 17,178,500
= 15,980,000
< 1,198,500
OXNSTEHH 29 2,455,733
= 2,455,733
OIS EFAY XA 1,604,600
= 1,604,600
O X+&t At 22l 34,822
= 34,822
NELASISH XN (=2) 1,157,775 1,732,900 AB75,125
= 1,077,000
< 80,775
308 A EHSOIA 1,157,775 1,732,900 A575,125
=2 1,077,000
< 80,775
01 HXNHHNBMNEES 1,157,775 1,732,900 A575,125
oxnazea 1,157,775
= 1,077,000
< 80,775
Atell 22l AlY 2 ZHIXA(=1) 117,900 117,900 0
= 117,900
308 XtXIEHH SOl A 117,900 117,900 0
= 117,900
01 AXHHILEES 117,900 117,900 0
OAteil 2t2lAtY 2gdl XI& 117,900
= 117,900
Huss ANEAE(2D) 2,236,000 1,223,400 1,012,600
= 1,789,000
< 447,000
307 21201 A 2,236,000 1,223,400 1,012,600
= 1,789,000
< 447,000
10 A2l =S X2 X 2,236,000 1,223,400 1,012,600
OXUZ=A KM (S22 AIY) 2,236,000
= 1,789,000
< 447,000
MNes 28 0ls NA(SXNEHD)(MSX/ES - IS 251,187,418 202,248,372 48,939,046
20/ 4)
= 153,299,606
= 176,000
= 851,545
< 96,860,267
HEL HSH M 612,322 1,513,412 901,090
= 30,000
= 582,322
Motz 29 =28 3,000 3,000 0




2AH: SRS
H: HEb Ex 0ts XN (SNFHY)(MI=X/ES = )
Sl HEM HSHY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 3,000 3,000 0
01 At 22l 3,000 3,000 0
OMENM HHARE 29 3,000
CHAHEAOHE EEXI& 549,322 1,440,412 A 891,090
308 XtXIEHHSOIA 549,322 1,440,412 A 891,090
01 AXHHBIYEES 549,322 1,440,412 A 891,090
onsSsDn Y3 L Y2 429,322
OOt Ole THEtS S = 120,000
OLOIZDl Z2H4 2A2s2R 22 (=312) 60,000 70,000 A 10,000
= 30,000
< 30,000
307 glz2+ol & 60,000 70,000 A 10,000
= 30,000
= 30,000
10 A3 S X2 = 60,000 70,000 A 10,000
ootolgll E2NY HE2sS=2R 29 60,000
= 30,000
< 30,000
Ots=XAMEA XI& 24,914,764 22,945,930 1,968,834
= 13,871,405
& 176,000
= 851,545
= 10,015,814
230ls 2AdSd 92,000 117,000 A 25,000
201 et 26,000 1,000 25,000
01 At 2teltl 26,000 1,000 25,000
Olts=i2d AAds =29 5,000
ongole IS A 1,000
ooeolg Es0ts ®I=2 20,000
307 21201 A 66,000 96,000 30,000
10 A2l S X2 X 66,000 96,000 /30,000
OUEolg I8 &AL 6,000
OAEOlEs RAadE1H 29 60,000
ots=XI& 249 60,000 50,000 10,000
307 21201 A 60,000 50,000 10,000
10 AFRISXIEX 60,000 50,000 10,000
OEsOls NEXNAEEI2 23 60,000
OtS=SXAIE SAA 1= 11,000 11,000 0
201 €82l 3,000 3,000 0
01 At 22/l 3,000 3,000 0
OOSEXAE SAX 1= 3,000




2N

EPARSE )

HH: HEH 2] ot NI (BXNFHD)(MISH/EK - HFLAHL)
Sl OtSSsXAMEIA X3 (&)
= - = 4 &

SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
301 LetE = 8,000 8,000 0
09 BAMAHIESS 8,000 8,000 0

OusEFAI 224 8,000

2sotsdgoyd X2 220,886 92,120 128,766
308 XXM S0l ™ 220,886 92,120 128,766
01 UAXESHHBLEXS 220,886 92,120 128,766

OFHdx=s XN&A 21,600
ostdss N 52,000
Osg"HEd XN 19,776
O=+stoi &yl X3 7,510
olistdgtds & 120,000

otss4 X¢ 6,101,948 6,223,840 A121,892
202 Ol 7,000 5,000 2,000
01 SO HI 7,000 5,000 2,000

OltSsAAMY =& 7,000
308 XXM SO0I™ 6,094,948 6,218,840 123,892
01 XM BEES 6,094,948 6,218,840 A123,892
osIE E-2 .35 o534 5,054,000
oysts ots=4 1,029,588
OZA0tEs TAHEHE =FH 11,360
NHotsdE 2N (22) 5,579,087 5,344,200 234,887
= 4,649,239
& 929,848
308 XXM SO0I™ 5,579,087 5,344,200 234,887
= 4,649,239
S 929,848
01 XM BaE2ES 5,579,087 5,344,200 234,887
OXgotsHE =29 5,061,271
= 4,217,726
S 843,545
ONSOISHEH S+=8E 23 310,456
= 258,713
= 51,743
OXZotsdH ERY 29 207,360
= 172,800
S 34,560

NeotsSdEe 28X2 153,780 0 153,780
308 XXM SO0I™ 153,780 0 153,780
01 UAXESHHBLEXS 153,780 0 153,780

OXgotsHe =28 F&HE 153,780
NS HE NS 2 (21) 175,000 178,572 ~3,572




2N

EPARSE )

HH: Hsb Ex 0t N (SNFHD)(MI=X/ES - IEL0HL)
& otsEXAMEA XJ (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 87,500
< 87,500
307 glz2+ol & 175,000 178,572 N 3,572
= 87,500
< 87,500
10 A3l S X2 = 175,000 178,572 A3,572
OXSotsHH XN3aH 29 175,000
= 87,500
< 87,500
ANYEotsdH Eotet 2HXE(=22) 31,196 30,000 1,196
= 15,598
= 15,598
307 21201 A 31,196 30,000 1,196
= 15,598
< 15,598
10 A2l S X2 X 31,196 30,000 1,196
OXYotsdE Hote XA 31,196
= 15,598
< 15,598
ANEOotsdEH 20 FHS WA XI& 42,000 42,000 0
308 XX EHSOIA 42,000 42,000 0
01 HXNHHNBNEELES 42,000 42,000 0
OZ0 AN WAL XI& 42,000
NAOtSHE SALA 1= 7,600 7,600 0
201 L2l 2,000 2,000 0
01 At 22l 2,000 2,000 0
OXS0ts SMA W= 2,000
301 et A Z 5,600 5,600 0
09 EAEHIE &S 5,600 5,600 0
OWNKEFANX AH & 5,600
OrS=EX A A& (=12) 1,370,880 1,282,360 88,520
= 1,142,400
< 228,480
308 XX EHSOIA 1,370,880 1,282,360 88,520
= 1,142,400
< 228,480
01 HIXNHMBNEES 1,370,880 1,282,360 88,520
OXZGotsHEH OtsS=SX WA X 1,370,880
= 1,142,400
< 228,480
daots ¥4 NA(22) 621,491 549,936 71,555
= 572,426
< 49,065




P ESANE AL

o

111,415

P HEM BSOS N (SNFHI)(MESX/ES - HEL0H)
P OhS=EXAMEA X )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
308 XXM SO0l A 621,491 549,936 71,555
= 572,426
< 49,065
01 IXNHHBNEES 621,491 549,936 71,555
ogdots s+ 621,491
= 572,426
< 49,065
Qexp4I2t INXA(2D) 28,447 0 28,447
2 26,202
= 2,245
308 XtXIEHH SOl A 28,447 0 28,447
= 26,202
< 2,245
01 AXHHILEES 28,447 0 28,447
oY=l 2R 28,447
= 26,202
< 2,245
Az N (21) 56,805 56,896 A9
= 52,320
< 4,485
308 XX EHSOIA 56,805 56,896 A9
= 52,320
< 4,485
01 HIXNHHNBHNEES 56,805 56,896 A9
ogyAHE X 56,805
= 52,320
< 4,485
ZOots dLL=sEx3(=21) 70,946 68,264 2,682
= 65,345
< 5,601
308 XXM SO A 70,946 68,264 2,682
= 65,345
< 5,601
01 AXHHIYEES 70,946 68,264 2,682
OHMlOls BLAFEEXS 70,946
= 65,345
< 5,601
YAOtE IHE X 18,000 0 18,000
308 XtXIEHHSOIA 18,000 0 18,000
01 HXSHBARES 18,000 0 18,000
O=UWYL E43tE st F&=ot=2 X 18,000
QESOE 088 B8 289X (=21) 482,802 471,121 11,681
371,387




SN =SXHHD

HH: Hsb Ex 0t N (SNFHD)(MI=X/ES - IEL0HL)
& otsEXAMEA XJ (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 XXM SO0l A 482,802 471,121 11,681
2 371,387
< 111,415
01 IXNHHBNEES 482,802 471,121 11,681
oREs0ts 1158 B3 2<% 482,802
= 371,387
< 111,415
IIEAE0IS MHEEE XE(=21) 67,762 82,513 A 14,751
2 62,412
= 5,350
308 XtXIEHH SOl A 67,762 82,513 A 14,751
= 62,412
< 5,350
01 AXHHILEES 67,762 82,513 A 14,751
OdEE= 67,762
2 62,412
< 5,350
OlS LA XN (Z2) 663,041 611,551 51,490
= 610,696
< 52,345
308 XX EHSOIA 663,041 611,551 51,490
= 610,696
< 52,345
01 HIXNHHNBHNEES 663,041 611,551 51,490
OCDA OHEXI& =2 663,041
= 610,696
< 52,345
OlssXAIE JIsE22d X (=1) 1,248,000 332,800 915,200
= 960,000
< 288,000
403 MtXISHHE X201 & 1,248,000 332,800 915,200
= 960,000
< 288,000
01 XM A=2EE 1,248,000 332,800 915,200
O0ts=XAE JIsE2L XA 1,248,000
= 960,000
< 288,000
OFSLAESAE 2Y 464,709 422,709 42,000
= 293,445
< 171,264
307 21201 A 464,709 422,709 42,000
= 293,445
= 171,264
10 A2l =S X2 X 464,709 422,709 42,000
OOtsLANESAIE 2F FIOHAR 42,000




SN =SXHHD
o YEL PR OIS NB(SNIHUY)(MSASX/2S - HSL0A)

& otsEXAMEA XJ (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

OO0tsLAESAIE 2 422,709
=2 293,445
< 129,264

otEs2sd2l2 29 686,000 586,000 100,000
= 363,600
< 322,400

307 21201 A 586,000 586,000 0
& 363,600
< 222,400

10 A2l =S X2 X 586,000 586,000 0
OOtsEsdEIN& 22 586,000
& 363,600
< 222,400

402 RI2EX=201 M 100,000 0 100,000

02 RI2HCH & AFH HI 100,000 0 100,000
OZRAZ OtsE 100,000

2|2 29 180,000 180,000 0
s 90,000
< 90,000

307 21201 A 180,000 180,000 0
= 90,000
< 90,000

10 A3l S X2 = 180,000 180,000 0
oZgla 24 180,000
=2 90,000
< 90,000

IHEASKNEHH 2 209,000 209,000 0
= 104,500
< 104,500

307 21201 A 209,000 209,000 0
= 104,500
< 104,500

10 A2l =S X2 X 209,000 209,000 0
OJMNEAEXNAEH 29 209,000
& 104,500
< 104,500

Ots SEAMHIA(Z1) 5,250,000 4,800,000 450,000
= 5,250,000

308 XXl I S 0| 5,250,000 4,800,000 450,000
= 5,250,000

01 HIXNHHBNEES 5,250,000 4,800,000 450,000
Oots SeMHIA XI& 5,250,000
= 5,250,000

We start Ot 22 840,000 870,000 230,000




2N
X ZH -
L= B

el

EPARSE )

HNEd 22 ot X (BXE

OFSSXAH A K&

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

308 XXM SO0l A 540,000 540,000 0

01 IXNHHBNEES 540,000 540,000 0
OWe start OIS 23 540,000

403 XSS X201 & 300,000 330,000 230,000

01 XXM A2E = 300,000 330,000 30,000
OWe start Ot &l 300,000

2 - IERAEOS Aelxz X 6,384 7,448 A 1,064
= 5,880
= 504

308 AHAIEHHSOIA 6,384 7,448 A 1,064
= 5,880
= 504

01 AXSHBLEES 6,384 7,448 A 1,064
oY - IS EOL 6,384
= 5,880
< 504

Heoletdgamygolaet 176,000 319,000 A 143,000
& 176,000

403 MtXISHH S0l & 176,000 319,000 A 143,000
& 176,000

01 AXSHMA=2EE 176,000 319,000 A 143,000
O ot A AEE 176,000
= 176,000

B MHA 235 225,660,332 177,789,030 47,871,302
= 139,398,201
= 86,262,131

A 5 15,127 12,127 3,000

201 Let2d] 8,000 5,000 3,000

01 At 22l 8,000 5,000 3,000
O3 MAAS 2 8,000

202 Odl 7,127 7,127 0

01 = LH YI 7,127 7,127 0
OBsAY =2 7,127

T BESdEHH 29(=21 312,000 312,000 0
= 156,000
< 156,000

307 glz2tol & 312,000 312,000 0
= 156,000
= 156,000

10 A3l =X 2 X 312,000 312,000 0
Ok Ex3EMH 312,000
= 156,000




SN =2XEYY
HH: Hsb Ex 0t N (SNFHD)(MI=X/ES - IEL0HL)
el B AMHA 25 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| < 156,000
Moy W 2HXA(=1) 43,396 43,396 0
= 21,698
< 21,698
307 glz2tol & 43,396 43,396 0
= 21,698
= 21,698
10 AtSI =X 2 X 43,396 43,396 0
Odgold nd d&X& 43,396
= 21,698
< 21,698
Ogoly gdst=Ed=a X 80,200 42,280 37,920
308 XX EHHSOIA 80,200 42,280 37,920
01 AXHHILEES 80,200 42,280 37,920
OMASZE Ols HEold dstEH=s Ns 80,200
OEols 23+ 4N 238,100 140,440 97,660
308 MtXIEHSOIH 217,400 140,440 76,960
01 HXNHHNBHELS 217,400 140,440 76,960
OsSZEJl HgaHzH X 90,540
OwMw>Hl X 54,860
OZ3EUHE0d HARIAH XA 72,000
403 X SHHSA=0l& 20,700 0 20,700
01 HXSHMA=E X 20,700 0 20,700
OZOOIM 2 Ofelold X&E2HH X 20,700
Helold sZHd X2 (=21) 547,912 474,451 73,461
= 421,471
< 126,441
403 MtXISHH S A0l & 547,912 474,451 73,461
= 421,471
= 126,441
01 XM A2 X 547,912 474,451 73,461
oogold sH= 196,912
= 151,471
< 45,441
OUEoldE HE=> 331,500
= 255,000
< 76,500
oogoly Fd22 19,500
= 15,000
< 4,500
Helold SAL HRHEX A 1,485,440 1,185,420 300,020
308 XtXIEHH SOl A 1,485,440 1,185,420 300,020
01 HXNHHBHEELS 1,485,440 1,185,420 300,020




2AH: SRS
Bu: HEL BSOS NF(SNIMD)(MSSX/ES - HSL0E)
el B AMHA 25 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORZtHe0ld EsA MM 989,040
OUEOIE SAA BEE 172,000
ogote BEFWA SEY 280,800
OUEO0lE CHHM WAL 148l XI& 28,000
OZOHOt HEl0lE EFWAL =F 15,600
Heloly & NA(=21) 818,682 283,679 535,003
= 629,755
< 188,927
403 XSS X201 & 818,682 283,679 535,003
= 629,755
< 188,927
01 X SHHX2E = 818,682 283,679 535,003
oozl &d=x 818,682
= 629,755
< 188,927
HE 0B ESAR 28 M2 45,000 15,000 30,000
307 21201 A 30,000 0 30,000
10 A2l =S X2 X 30,000 0 30,000
ONelold E=2352 M1 A4E Y WS 30,000
308 XX EHHSOIA 15,000 15,000 0
01 HIXNHHBNEES 15,000 15,000 0
OZJ0e0lE sotsUa 15,000
BRESNUAXNR(2D) 28,521,715 27,690,633 831,082
=2 21,939,781
< 6,581,934
308 XXM SOIA 28,521,715 27,690,633 831,082
= 21,939,781
< 6,581,934
01 AXHHBILEES 28,521,715 27,690,633 831,082
OONeold SALAI A XI& 28,521,715
= 21,939,781
S 6,581,934
ESZ24dH 29 N 165,000 15,000 150,000
308 XtXIEHH SOl A 15,000 15,000 0
01 HXNHHBHELS 15,000 15,000 0
oXNg=Esd324dH 298 XA 15,000
403 MtXISHH S0l & 150,000 0 150,000
01 XM A2E X 150,000 0 150,000
Og=w0oF &2 T A& EXXE 150,000
g2z NA(=21) 98,689,200 79,832,032 18,857,168
= 82,241,000
< 16,448,200




SH =SNEMY
HY: HEM PR OIS NA(ZNFHY)(MISX/2] - HEL0A)
¢el: EMUA 25 (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 XXM SO0l A 98,689,200 79,832,032 18,857,168
= 82,241,000
=) 16,448,200
01 IXNHHBNEES 98,689,200 79,832,032 18,857,168
ogsotEsz XN& 98,689,200
= 82,241,000
< 16,448,200
AM2XSE EFAIEAS 52,800 0 52,800
= 40,615
= 12,185
308 XtXIEHH SOl A 52,800 0 52,800
= 40,615
< 12,185
01 AXHHILEES 52,800 0 52,800
OAZINEE ESAEAY 52,800
= 40,615
< 12,185
Feltd 282 K& 53,100,915 35,891,387 17,209,528
308 A EHHSOIA 53,100,915 35,891,387 17,209,528
01 HXNHHNBMNEELS 53,100,915 35,891,387 17,209,528
Oxcltd 212 XA 53,100,915
¥ g=sSY N (=2) 33,014,400 26,039, 391 6,975,009
= 27,512,000
< 5,502,400
308 XXM SOl A 33,014,400 26,039,391 6,975,009
= 27,512,000
< 5,502,400
01 IXNHHBNEES 33,014,400 26,039, 391 6,975,009
ojgg=s=<g & 33,014,400
= 27,512,000
= 5,502,400
OEolEXA(=12) 4,523,070 5,631,357 A 1,108,287
= 3,479,285
< 1,043,785
308 XtXIEHH SOl A 4,523,070 5,631,357 A 1,108,287
= 3,479,285
< 1,043,785
01 AXHHILEES 4,523,070 5,631,357 A 1,108,287
OeolE XA 4,523,070
= 3,479,285
< 1,043,785
S38ol20lE X2 (=2) 3,794,700 0 3,794,700
= 2,919,000
< 875,700




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 XXM SO0l A 3,794,700 0 3,794,700
= 2,919,000
< 875,700
01 IXNHHBNEES 3,794,700 0 3,794,700
O=380Ueo&EXA 3,794,700
2 2,919,000
< 875,700
HIZOHOF e B2 163,800 156,000 7,800
308 XtXIEHH SOl A 163,800 156,000 7,800
01 X HHILEES 163,800 156,000 7,800
OHIZHoL &t B2 163,800
22 ZUHEH 2E XA (21) 48,875 24,437 24,438
2 37,596
< 11,279
308 A EHHSOIA 48,875 24,437 24,438
2 37,596
< 11,279
01 HIXNHHNBMNEELS 48,875 24,437 24,438
ORZ ZULHEY 2SN 48,875
= 37,596
< 11,279
HHE2LSZH (SN I D) (IIEH/IIE) 127,173 366,680 A 239,507
= 43,594
< 83,579
AHSIH(AZSHIIS2ESLEIA) 62,973 54,620 8,353
= 43,594
< 19,379
oz AALA 2 (=Z1) 62,973 54,620 8,353
= 43,594
< 19,379
101 Q124 1| 62,973 54,620 8,353
2 43,594
S 19,379
03 RIAHAZ 22+ 62,973 54,620 8,353
ooz =0 &elAr(2Y) 54,493,000 54,493
= 43,594
= 10,899
oAz a0 2elAL 403 8,480,000 8,480
Jl= &l 64,200 106,200 A 42,000
EM2E Jl=Z 64,200 106,200 A 42,000
201 Let249] 42,575 42,575 0
01 At 22/l 41,375 41,375 0
ORMNEY AtR22eltl 41,375




SH SNEHY
o HY2YY
Sl Jl= A

BI (S X&) (O1EH/IIE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

02 2324l 1,200 1,200 0
ORN2Y 2224l 1,200

202 04l 11,425 11,425 0

01 = LH Yl 11,425 11,425 0
FME2E S WAL 11,425

203 YR =&l 10,200 27,000 A 16,800

01 122 =4 6,000 6,000 0
o=% 6,000,000& 6,000

04 EA2IYRFLH| 4,200 21,000 A 16,800
©302! Ol ot 350,000& = 12& 4,200

HEees(SXNEH) (MBS /FHLHSKH) 22,630, 166 24,061,890 A1,431,724

HEAHHK = 22,630, 166 24,061,890 A1,431,724

dQz=0II3 XA 22,130, 166 23,561,890 A1,431,724

701 JIEISI AN E 3 22,130, 166 23,561,890 A1,431,724

01 JIEtSIHE &S 22,130,166 23,561,890 A1,431,724
Od=2=S0HII=EEH d&E= 22,130,166

Mal=X013 A& 500,000 500,000 0

702 )1 2HEZS 500,000 500,000 0

(O RIE=RSE-= 500,000 500,000 0
OAMEI=EXIDIZ 500,000
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SH SN™HD

=

Hu: RO FMBST(ASZT /I ENEBE)
gl A2300I3 2E(A2S0HIIS2ESEA) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SXE M 223,232,000 233,800,000 A 10,568,000
= 178,338,388
=) 44,893,612
2O ZMBSE(ANE SN/ ZNELH) 223,169,027 233,745,380 ~10,576,353
2 178,294,794
= 44,874,233
=230 II3 2 (AE230IIS2E=SEsA) 223,169,027 233,745,380 A 10,576,353
= 178,294,794
< 44,874,233
=230 Az AMblA X (21) 222,435,258 233,002, 844 A 10,567,586
= 178,294,794
< 44,140,464
201 Let249] 697,500 700,000 A 2,500
= 558,000
< 139,500
01 At 22l 697,500 700,000 A 2,500
ORIE - HAt===2 697,500
= 558,000
= 139,500
308 XXIEHH SO0l A 3,029,194 3,694,890 A 665,696
= 2,769,950
< 259,244
01 IXNHHBNEES 3,029,194 3,694,890 A 665,696
o=o 2g #2323 124,447
= 110,620
< 13,827
OozH 83 16,200
= 14,400
< 1,800
OL2H ¢ Hojel 237 g XN 796,512
= 708,010
< 88,502
o=¢e BE Ba=a 115,920
= 103,040
< 12,880
oodza0 22 696,000
= 696,000
(OFale g S NI | 1,280,115
= 1,137,880
< 142,235
403 UHXISHHSA=0l& 218,708,564 228,607,954 29,899,390
= 174,966,844
=) 43,741,720
02 S| 2SO0l CH&HCH & A I 218,708,564 228,607,954 29,899,390
oxX2Hl o2 218,708,564
= 174,966,844
= 43,741,720




P ESANE AL
PRI ZMEEH(AMIEX /I zME

= o =
P og30ls 2g(dg20lI=2d

2%)
o
SE3

I GRA(A) - HRAMY - BES & HlnE2
250 =& 213,200 216,000 A2,800
201 24l 9,000 9,000 0
01 At 2t 2l 6,000 6,000 0

O2A==0 Letd 6,000
03 #AL2EHI 3,000 3,000 0
oAz s 2ACIAL HEF 3,000
202 Odl 20,000 18,000 2,000
01 = LH 4 Hi 10,000 10,000 0
OA= YR =& 10,000
04 = H &t Bl 10,000 8,000 2,000
Odi2l & &KX HIXI0H2 10,000
308 A EHHSOIA 184,200 189,000 A 4,800
01 HIXNHHNBHEELS 184,200 189,000 A 4,800
OYgRE=X 2l2dl X2 (18Y) 96,000
od&Edl XA 88,200
0ol Bl 8l 520,569 526,536 A5,967
801 o8I 8l 520,569 526,536 A5,967
01 ollgldl 520,569 526,536 25,967
O gl bl 520,569
SAZH (SN (IIEH/IIE) 62,973 54,620 8,353
= 43,594
< 19,379
2dHl(dz=0II32ZsE3A) 62,973 54,620 8,353
= 43,594
< 19,379
SS0ALUA 2H(F1) 62,973 54,620 8,353
= 43,594
< 19,379
101 @124l 62,973 54,620 8,353
= 43,594
= 19,379
03 RIAHAAN2ZZ2NHE =+ 62,973 54,620 8,353
O9dzz=0&alA(2¥) 54,493,000 54,493
= 43,594
< 10,899
oAz 2CIAL 403 8,480,000& 8,480
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